FgArea: [0 ]
NC11 G3-1
2025-05-30 (Day 18)




—— VI
—0— VO

- 4 VWN

1000 1200

800
DU

—o— 4 FR

—0— 4 setVl

4 VI vs Du
400 600

16 18

14
d
4 (fgArea = NA)

10

700 -
600 -
500 -
400 -
300 -
200 -
100 -

0.1f=—m————m

0.2 -
700 -
600 -
500
400 -
300 -

55 -
50 -
45 -
40 -
35 -
30
25 -
20 -

T T T T T T T
o o o o o o o
o o o (=] o o o
~ © w < ™ N —
=
>
™

——
®

18

12 14 16
1000 1200

10

800
DU

600

3 VI vs Du
400

—O—

16 18

14
NA)

10 12
d
3 (fgArea

0.6 -
0.4 A
800 -
700 -
600 -
500
400 -
300 -
200

>

+

[]

(2]

™

T T T T T T T T
o o o o o o o o
— o (=2} o ~ © o <
— —

=
o
—
*
- O
o O
wow
T T T T T T T T
o o o o o o o o
o o o o o o o o
o Lo o Lo o Lo o Lo
Lo < < ™ ™ N N —
[
xR
o
—
*
- O
o O
ww

T T T T T T T T
o o o o o o o o
o o o o o o o o
oo ~ © o} < ™ N —

- 2 VW

14 16 18
1200 1400

12
1000

10
800
DU

2 VI vs Du
400 600

18

16

14

12

10

—@— 2 setVl

4500
4000
3500 -
3000
2500 -
2000
1500

d
= NA)

2 (fgArea

800 -
600 -
400 -
200 -

800

700 -
600 -
500 -
400 -
300 -
200 -
100

.0
0.8~
0.6 1
0.4~
0.2 -
0.0
900
800 -
700
600
500 -
400 -
300 ~
200 ~

T T T T
~ © o < (9]
o o o o o
o
[
[sp]
T T T T T T T
o o) o ) =) o o
e} ~ ~ © © Lo 0
o o o o o o o
o
L
| W
T T T T T
e} ~ © o <t
o o o o o

80 A
60 -
40 -

—@— ECI*10%

—@— ECO

—— VI
—0— VO
L J
®

VN

1

1000 1200

800
DU

—&— 1FR
—@— 1 setVl

600

1 OIR
1 VI vs Du
400

——

5000
4500 -
4000 -
3500 -
3000 -
2500
2000
1500 ~

16 18

14
NA)

12
d
1 (fgArea

10

—&— ECI*10%

—0— ECO

800 -
700 -
600 -
500 -
400 -
300 -
200 -
100

800 -
700 -
600 -
500 -
400 -
300 -
200 -
100

0 _
0.8~
0.6 1
0.4 -
0.2+
800
700
600
500
400 ~
300
200 -
100

1.

0.7 1
0.6 -
0.5 -
0.4
0.3 -
0.2

0.1

60 -
50 -
40 -
30 -
20 -
10

5000
4500
4000 -
3500 -
3000
2500
2000 -
1500

14 16 18

12

10



==

)

=

*

- o

T T

oo
T T T T T T T T
N o <) © < o~ o [}
~ ~ © © © © © [Te)

=

o

=

*

=)

T T

oo
T T T T T T T T
I o oo © < o~ o o
~ ~ © © © © © o)

==

)

*

=)

T T

oo
T T T T T T T T
o~ o o © < o~ o 0
~ ~ © © © © © [To)

—@— PHI*10%
PHO

7.2 4
7.0
6.8
6.6 -
6.4 -
6.2 -
6.0 -
5.8 -

——
8

18

16

14

12

10

18

16

14

12

10

18

16

14

12

10

18

16

14

12

10



Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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